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17

1 35.48.01 | 139.38.49

38 35Km
2 35.50.55 | 139.35.45
3 35.53.31 | 139.33.44
4 35.56.33 | 139.32.44 819m
5 36.02.57 | 139.29.55 i
6 36.07.17 | 139.24.10

i
78.2Km

7 36.06.40 | 139.11.49 9

140 i
8 36.04.54 | 139.06.34

i
9 35.57.05 | 138.56.02
10 35.51.44 | 139.42.50
16

1 35.55.08 | 139.38.38
12 35.47.12 | 139.44.54
13 35.51.00 | 139.42.24
14 35.51.19 | 139.40.28
15 35.48.00 | 139.42.06




16 i 35.48.16 | 139.39.14
17 35.49.59 | 139.39.18
18 35.51.16 | 139.36.31
19 35.54.30 | 139.35.52 16
20 35.56.29 | 139.32.05 .
21 35.57.20| 139.28.16 254
22 35.55.08 | 139.27.07
23 35.51.36 | 139.24.16

299 407 243.7m
24 35.51.04 | 139.22.59

23Km
25 35.50.30 | 139.19.15

254
26 35.57.31 | 139.28.41
27 35.58.01 | 139.20.33
28 35.57.46 | 139.18.13

407
29 36.00.42 | 139.24.03

JR 300m 2km
30 36.00.18 | 139.17.08
2km



Administrator
長方形

Administrator
タイプライターテキスト
35.57.20


31 36.03.11 | 139.16.22
32 36.03.50/139.11.02
33 35.57.42 | 139.23.03 2-9Km
34 35.53.00 | 139.18.41
35 35.56.51 | 139.27.35
36 35.50.41 | 139.23.11
37 35.50.14 | 139.19.16
38 36.01.06 | 139.28.15

407 0.7Km
39 36.02.43 | 139.24.50

2km
40 36.03.14 | 139.24.51
53

41 36.04.56 | 139.26.11

299
42 36.00.33 | 139.02.16

140
43 36.01.45 | 139.06.19

3km

44 35.57.05 | 138.56.00
45 35.48.02 | 139.51.05



Administrator
長方形

Administrator
長方形

Administrator
タイプライターテキスト
36.03.50

Administrator
タイプライターテキスト
139.11.02


46 35.50.52 | 139.50.31
1.5Km
47 35.54.28 | 139.50.11
48 35.56.10 | 139.50.02
3km
49 36.00.16 | 139.46.51
4 16

50 36.05.45 | 139.43.16 109.8m

51 36.08.11 | 139.38.42

52 35.47.32 | 139.49.40

1Km
53 35.49.40 | 139.48.50
2.3Km
54 35.51.13 | 139.48.04
463
55 35.53.14 | 139.44.29
1Km

56 35.48.38 | 139.49.15

57 35.50.07 | 139.48.35

58 35.48.29 | 139.48.05

I
( )
59 35.47.42 | 139.51.36
60 35.53.13 | 139.50.09




61 36.00.59 | 139.38.59
17
62 36.05.26 | 139.29.41
150m
63 36.06.03 | 139.28.37
64 35.53.46 | 139.49.42
65 35.54.35 | 139.49.19
16
66 35.59.39 | 139.44.43 500m
67 36.01.35 | 139.43.37 8
17
68 35.47.39 | 139.39.08
69 35.50.10 | 139.34.54
48 Fid
70 35.53.33 | 139.30.19
71 35.47.48 | 139.38.26
72 35.48.39 | 139.36.29
73 35.46.00 | 139.33.01
74 35.50.07 | 139.34.51
75 35.46.32 | 139.28.30




76 35.47.43 | 139.29.22
254
77 35.53.46 | 139.29.28
78 35.50.13 | 139.25.37
xR 4
79 36.08.36 | 139.42.17 130.0Kn
154.0Km 3Km
80 36.11.19 [139.28.24
407 164 .5Km
81 36.14.22(139.22.42
82 36.14.56 | 139.16.20 174.5Km
462 16 3
83 36.15.46 | 139.11.23 182.0Km
84 35.50.44 | 139.53.28
85 35.56.20 | 139.50.47 395m 39.3Km
*
86 36.04.53 | 139.46.48 407m S7-4Km
87 36.12.09 | 139.23.47
88 36.13.51 | 139.18.32
17
89 36.13.37 | 139.13.09
90 36.10.03 | 139.06.34 s00m



Administrator
長方形

Administrator
長方形

Administrator
長方形

Administrator
長方形

Administrator
タイプライターテキスト
36.11.19

Administrator
タイプライターテキスト
139.28.24

Administrator
タイプライターテキスト
36.14.22

Administrator
タイプライターテキスト
139.22.42


91 36.12.50 | 139.17.27
92 36.14.13 | 139.12.36
17
93 36.16.03 | 139.07.15
254
94 36.14.16 | 139.05.38
43
L1 36.07.53 | 139.01.05 13
36 12
L2 35.56.26 | 138.54.32 2,690
L3 35.48.54 | 139.37.49
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9
110324001 1
10.1
12.1
32
21
17
59 9
2
14
45.2 45.3 45.4 45.6 45 3
46.3 46 9 2
53
59 11
59 12
32 59 13
55.2 55.3 55.4
38.1.2 38 11 38.
38.1.2 38.3 38.1.2 38.5 59
1
54
65.2 65.2.7 65.2.6
K0170-7 7 a
b
61.2 61.3 61.4
59 2
3
4
JIS K0125 5.1 5.2 5.3.2
JIS K0125 5.1 5.2 5.3.1 5.4.1 5.5
, JIS K0125 5.1 5.2 5.3.1 5.3.2
, JIS K0125 5.1 5.2 5.3.2
1,2
1,1,1 JIS K0125 5.1 5.2 5.3.1 5.4.1 5.5
1,1,2
1,3 JIS K0125 5.1 5.2 5.3.1
59 5
6 1 2
JIS K0125 5.1 5.2 5.3.2

67.2 67.3 67.4

59 1 4

-10-




34.1 34

10ml 60ml
250ml
K0170-6 6

1

34.1.

34.4
200ml
10g
,000ml

ey @

59 7

34

47.1 47.3

47.4

1,4

59

28.

52.2 52.3 52.

4 52.5

57. 57.3

57.4

56. 56.3 56.

4 56.5

65.

[N N A E R

42.
42.6

42.2

42.1

42.3 42.5

42.1

59

rg

44

46.1

JIS KO0101 9.4

13

JIS KO0101 15

261

35

261

30.1

11

30.2

30

22

9 115

N-(2-

21

JIS KO0125 5.1 5

.2 5.3.1

1,2

1,2

121

121

121

JIS KO0125 5.1 5

.2 5.3.2

121

3 1

59.3

121

68.2

121

040331003
2 3

040331005 5

040331003

040331005 1

2

56.2 56.3 56.

4 56.5

-11-
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040331003 040331005
2
031105001 031105001
2
4-t- 1303272
2
2,4- 3
110324001 2
22
K0102 2019
59 ( 46 12 28 )
261 15
22
121
5 4 28
30
5 2 ( 7 6 16 )
040331003 040331005
16 3 31
031105001 031105001
15 11 5
110324001 23 3 24
1303272
25 3 27




16 4

14 4 4
14 6 2
rg (4.10 TOC 1 )
24 8 8 120725002
13
46 9 30 30
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75 0.75x
0.75x%
12 10
01 11
02 12
03 13
01 06 11 16 21
02 07 12 17
03 08 13 18
04 09 14 19
05 10 15 20
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00 07

01 08

02 09

03 10

04 11

05 12

06 13

01 15 29
02 16 30
03 17 31
04 18 32
05 19 33
06 20 34
07 21 35
08 22 36
09 23 37
10 24 38
11 25 39
12 26 40
13 27 50
14 28

1

2

3
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00 09 18 27
01 10 19 28
02 11 20 29
03 12 21 30
04 13 22 31
05 14 23 32
06 15 24 33
07 16 25

08 17 26

0

1

2
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.5 <0.5 (mg/L)

0
0.5 <0.5 ( )
0.5 <0.5 ( )
1 <1 ( )
2 <2 (MPN/100mL)
0.5 N.D. (mg/L)
0.05 <0.05 ( )
0.003 <0.003 ( )
0.001 <0.001 ( )
0.00006 <0.00006 | ( )
0.0006 <0.0006 | ( )
0.5 <0.5 ( )
0.0003 <0.0003 | ( )
0.1 N.D. ( )
0.001 <0.001 ( )
0.005 <0.005 ( )
0.001 <0.001 ( )
0.0005 <0.0005 | ( )
0.0005 N.D. ( )
0.0005 N.D. ( )
0.002 <0.002 ( )
0.0002 <0.0002 | ( )
1,2 0.0004 <0.0004 | ( )
1,1 0.002 <0.002 ( )
1,2 0.004 <0.004 ( )
1,1,1 0.0005 <0.0005 | ( )
1,1,2 0.0006 <0.0006 | ( )
0.001 <0.001 ( )
0.0005 <0.0005 | ( )
1,3 0.0002 <0.0002 | ( )
0.0006 <0.0006 | ( )
0.0003 <0.0003 | ( )
0.002 <0.002 ( )
0.001 <0.001 ( )
0.001 <0.001 ( )
0.1 <0.1 ( )
0.02 <0.02 ( )
0.02 <0.02 ( )
1,4 0.005 <0.005 ( )
0.005 <0.005 ( )
0.01 <0.01 ( )
0.1 <0.1 ( )
0.05 <0.05 ( )
0.01 <0.01 ( )
0.1 <0.1 ( )
0.05 <0.05 ( )
0.005 <0.005 ( )
0.05 <0.05 ( )
0.01 <0.01 ( )
1 <1 ()
1 <1 (mS/m)
1 <1 (mg/L)
1 <1 ( )
0.01 <0.01 ( )

-17-




0.0008 <0.0008 | (mg/L)
0.0002 <0.0002 | ( )
0.0002 <0.0002 | ( )
0.0002 <0.0002 | ( )
0.0002 <0.0002 | ( )
2 <2 (ng/L)
0.1 <0.1 (mg/L)
1 <1 (MPN/100mL CFU/100mL)
0.5 <0.5 ( )
0.006 <0.006 ( )
1,2 0.004 <0.004 ( )
1,2 0.006 <0.006 ( )
0.02 <0.02 ( )
0.0008 <0.0008 | ( )
0.0005 <0.0005 | ( )
0.0003 <0.0003 | ( )
0.004 <0.004 ( )
0.004 <0.004 ( )
0.005 <0.005 ( )
0.0008 <0.0008 | ( )
0.0006 <0.0006 | ( )
0.0008 <0.0008 | ( )
0.003 <0.003 ( )
0.0008 <0.0008 | ( )
0.0001 <0.0001 | ( )
0.06 <0.06 ( )
0.04 <0.04 ( )
0.006 <0.006 ( )
0.001 <0.001 ( )
0.007 <0.007 ( )
0.002 <0.002 ( )
0.0002 <0.0002 | ( )
0.00004 | <0.00004 | ( )
0.02 <0.02 ( )
0.0002 <0.0002 | ( )
0.001 <0.001 ( )
0.1 <0.1 ( )
4-t- 0.0001 <0.0001 | ( )
0.002 <0.002 ( )
2,4- 0.0003 <0.0003 | ( )
1 <1 (MPN/100mL CFU/100mL)
0.1 <0.1 (mg/L)
1.000 >1.000 (m)
0.1 <0.1 (m)

-18-




0.1 <0.1 (mg/kg)

1 <1 C )

0.5 <0.5 ( )

5 <5 C )

0.5 <0.5 ( )

0.2 <0.2 ( )

0.01 <0.01 ( )

0.01 <0.01 ( )

0.01 <0.01 ( )

0.5 <0.5 C D

0.1 <0.1 (%)

0.1 <0.1 C )

0.5 <0.5 (mg/g)

0.1 <0.1 C )

0.01 <0.01 | ( )

0.01 <0.01 | ( )

0.001 <0.001 (ng/kg)

0.001 <0.001 ( )

3

Lo )

-19-
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